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Attempt four questions in all, selecting fwo from Section A and one each from Sections B and C. .
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1. Critically examine the theory of industrialization. 20
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. Do you agree with the view that all industrial societies will converge? Give reasons for
your answer. 20
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. Compare the features of post-industrial society with those of industrial societies. 20
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Section B
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_ With reference to Gouldner’s study, discuss the dynamics of industrial bureaucracy. 20
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. Critically examine the pluralistic theory of industrial conflict. 20
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Section C
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. Analyse the labour relations policy in the Indian context. 15
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_ Discuss the view that there is no dichotomy between formal and informal sectors. 15
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